
INSTALL ATION MANUAL
ІНСТРУКЦІЯ З МОНТАЖУ

O R I O N  s e r i e s



2 service@kollerpool.eu

ORION series



3kollerpool.com

INSTALLATION MANUAL							       3-5

SHOWER SYSTEM WITH THERMOSTAT

Art.: 1181390306

ІНСТРУКЦІЯ З МОНТАЖУ						      6-7

ДУШОВА СИСТЕМА З ТЕРМОСТАТОМ

Арт.: 1181390306



4 service@kollerpool.eu

INSTALLATION MANUAL

Thread seal tape

Hand shower Hose Rubber washer Shower head M5*4 screw Mounting bracket Adorning ring hand shower holder

Water outlet joint M4*35 screw Wall anchor Hexagon wrench Mixer M5*6 secrws Shower column Levelling instrument

WALL

1.	 The distance of pipe center is 150 mm.

2.	 Cleaning inner pipe.

3.	 Wrap the thread seal tape (1) on water outlet joint (2), Screw the water outlet joint (2) to the hot/cold 
waterinlet on the wall.



5kollerpool.com

8.	 Take down the shower column (8), and drill a 6 mm hole on the marked place. Put wall anchor (4) 
into the hole and fix the mounting bracket (15) on the wall with M4*35 screw (3). Insert the show-
er column (8) into the mixer (6) through the hand shower holder (17) and the decorative O-ring 
(16),then fix the shower column (8) with mounting bracket (15) by M5*4 screw (14) which are already 
in mounting bracket (15) with Hexagon wrench (5).

9.	 Picture showing

10.	Screw the shower head (13) to the shower column (8), Place rubber washer (12) into each nut of 
hose (11), and secure one nut to the mixer (6), the other nut to the hand shower (10). Put the hand 
shower (10) onto the holder (7).

4.	 Keep balance of the joint (2) by use the leveling instrument (9).

5.	 Insert the mixer (6) into water outlet joint (2).

6.	 Fix the mixer (6) by M5*6 secrws (7) through Hexagon wrench (5).

7.	 Insert the shower column (8) into mixer (6), use the leveling instrument (9) to mark the proper 
location of mounting bracket (15).



service@kollerpool.eu6

ІНСТРУКЦІЯ З МОНТАЖУ

PTFE стрічка

Ручний душ Шланг Гумова шайба Верхній душ Гвинт M5*4 Монтажний
кронштейн

Декоративне
кільце

Тримач
ручного душа

Ексцентрик Шуруп M4*35 Дюбель Шестигранний
ключ

Змішувач Гвинт M5*6 Душова колона Рівень

СТІНА

1.	 Міжцентрова відстань виводів труб складає 150 мм.

2.	 Промити водопровідну мережу від усіх забруднень, щоб уникнути пошкодження змішувача.

3.	 Ущільніть різьбу ексцентриків із підключення гарячої/холодної води (2) за допомогою PTFE 
стрічки (1).



kollerpool.com 7

8.	 Зніміть душову колону (8), просвердліть отвір діаметром 6 мм у відміченому місці. Вставте 
дюбель (4) в отвір та закріпіть монтажний кронштейн (15) на стіні шурупом М4*35 (3). Вставте 
душову колону (8) у змішувач (6) через тримач ручного душу (17) і декоративне кільце (16), за 
допомогою шестигранного ключа (5) закріпіть душову колону (8) з монтажним кронштейном 
(15) гвинтом M5*4 (14).

9.	 Вигляд душової системи має відповідати зображенню.

10.	Прикрутіть верхній душ (13) до душової колони (8), встановіть гумові шайби (12) у кожну гайку 
шлангу (11), прикрутіть одну гайку на змішувачі (6), а іншу до ручного душу (10). Встановіть 
ручний душ на тримач (17).

4.	 За допомогою рівня (9) відкоригуйте ексцентрикові з’єднувачі (2).

5.	 З’єднайте змішувач (6) з ексцентриковими з’єднувачами (2).

6.	 Закріпіть змішувач (6) гвинтами M5*6 (7) за допомогою шестигранного ключа (5).

7.	 Вставте душову колону (8) у змішувач (6), скористайтеся рівнем (9), щоб відмітити місце 
розташування монтажного кронштейна (15).



service@kollerpool.eu

kollerpool.com


